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) SENMO FiR(CHEET 51 SERHRA
ﬁg’g TREOBHOEILADKRES TREDHBEBSILADKRES TREOBBDOSSLADKRES TREDHEBESSLHADKRES
= = U HV U HV E| 5 = i AN =3 U AV =2l 5
S 100kN/mM%#8Z2% | 1.00 | 0.00 ~ 116 117.58 |3mZz#B2B| — ~ — — — | 100kN/mi%#82% | 1.00 | 12.02 ~ 17.85| 117.58 |3mE#EZ3 - ~ — — —
Fh s 1.00 | 1.16 ~ 895 100.00 | #hist | 0.00 ~ 895|218 11.41 Fh s 1.00 | 5.00 ~ 1202 100.00 | =hst | 5,00 ~ 17.85|2.13 11.41
2 100kN/m#Z#82%| 1.00 | 0.00 ~ 1.57| 124.04 |3ImEBZB| — ~ — — — | 100kN/mi%#82% | 1.00 | 11.40 ~ 1899 | 124.04 |3m%EHEZD - ~ — — —
Fh s 1.00 | 1.57 ~ 9.36 100.00 | #hist | 0.00 ~ 936|218 11.67 Fh s 1.00 | 5.00 ~ 11.40 100.00 | =hst | 5,00 ~ 1899 2.18 11.67
3 100kN/mM%Z#B% % — -~ - — |3mZEBZB| — ~ — — — | 100kN/MZ#BZ % — — ~ — — |3m%i#BZ 3 -~ — — —
Fh s 1.00 | 0.00 ~ 7.61 97.45 | #hst | 000 ~ 761|210 11.22 Fh s 1.00 | 5.00 ~ 1025 97.45 | ThS | 5,00 ~ 1025|2.10 11.22
4 100kN/mM%Z#B% % — -~ - — |3mZEBZB| — ~ — — — | 100kN/MZ#BZ % — — ~ — — |3m%i#BA S -~ — — —
Fh s 1.00 | 0.00 ~ 7.73 99.24 | #nAS | 000 ~ 7.73|2.09 11.20 Fh s 1.00 | 5.00 ~ 10.59 99.24 | NS | 5,00 ~ 1059 | 2.09 11.20
5 100kN/mM%Z#B% % — -~ - —|3mZEBZB| — ~ — — — | 100kN/MZ#BZ % — — ~ — — |3m%i#BZ S -~ — — —
Zh s — -~ — — | Ehust -~ — — — Zh s — — ~ — — | Fhust — ~ — — —
6 100kN/mM%Z#B% % — -~ - — |3mZEBZB| — ~ — — — | 100kN/MZ#BZ % — — ~ — — |3m%i#BZ S -~ — — —
Zh s — -~ — — | Ehus -~ — — — Zh s — — ~ — — | Fhust — ~ — — —
; 100kN/mM%Z#B% % — -~ - —|3mZEBZB| — ~ — — — | 100kN/MZ#BZ % — — ~ — — |3m%i#BZ 3 -~ — — —
Fh s 1.00 | 0.00 ~ 7.71 98.97 | #hs | 000 ~ 7.7112.07 11.08 Fh s 1.00 | 5.00 ~ 10.66 98.97 | #h S | 5,00 ~ 1066 | 2.07 11.08
g 100kN/mM%#8Z2% | 1.00 | 0.00 ~ 1.18 117.86 |3mZz#BzB| — ~ — — — | 100kN/mi%#825% | 1.00 | 10563 ~ 1428 | 117.86 |3mE#EZ3 - ~ — — —
Fh s 1.00 | 1.18 ~ 897 100.00 | FhLls | 0.00 ~ 897|2.17 11.62 Fh s 1.00 | 5.00 ~ 10.53 100.00 | =hst | 5,00 ~ 1428|217 11.62
9 100kN/mM%#8Z2% | 1.00 | 000 ~ 1.18 117.86 |3mZz#BzB| — ~ — — — | 100kN/mi%#82% | 1.00 | 10563 ~ 1428 | 117.86 |3mE#EZ3 - ~ — — —
Fh s 1.00 | 1.18 ~ 897 100.00 | FhLls | 0.00 ~ 897|2.17 11.62 Fh s 1.00 | 5.00 ~ 10.53 100.00 | =hst | 5,00 ~ 1428|217 11.62
10 100kN/mM%#82% | 1.00 | 0.00 ~ 0.78 111.66 |3mZz#Bz5| — ~ — — — | 100kN/mi%#82% | 1.00 | 10.71 ~ 12.95| 111.66 |3mEkEZ3 - ~ — — —
Fh s 1.00 1078 ~ 857 100.00 | FhLls [ 0.00 ~ 857|1.85 9.91 Fh s 1.00 | 5.00 ~ 10.71 100.00 | =hs | 5,00 ~ 12.95| 1.85 9.91
1 100kN/mM%#8Z2% | 1.00 | 000 ~ 1.29 119.61 |3mZz#BzB| — ~ — — — | 100kN/mi%#82% | 1.00 | 10.76 ~ 1539 | 119.61 |3mE#EZD - ~ — — —
Fh s 1.00 | 1.29 ~ 9.08 100.00 | #hist | 0.00 ~ 9.08|2.09 11.17 Fh s 1.00 | 5.00 ~ 10.76 100.00 | =hst | 5.00 ~ 1539 | 2.09 11.17
12 100kN/mM%#8Z2% | 1.00 | 000 ~ 1.29 119.61 |3mZz#BzB| — ~ — — — | 100kN/mi%#82% | 1.00 | 10.76 ~ 1539 | 119.61 |3mEkEZD - ~ — — —
Fh s 1.00 | 1.29 ~ 9.08 100.00 | Fhlist | 0.00 ~ 9.08]2.27 12.14 Fh s 1.00 | 5.00 ~ 10.76 100.00 | =hst | 5.00 ~ 1539|227 12.14
13 100kN/mM%#8Z2% | 1.00 | 0.00 ~ 1.29 119.49 |3mZz#B2B| — ~ — — — | 100kN/mi%#82% | 1.00 | 10.62 ~ 1499 | 119.49 |3mE#EZD - ~ — — —
Fh s 1.00 129 ~ 9.07| 100.00 | FhLls 000 ~ 907|212 11.36 Fh s 1.00 | 5.00 ~ 10.62 100.00 | Zhst | 5,00 ~ 14.99|2.12 11.36
14 100kN/mM%Z#B% % — -~ - —|3mZEBZB| — ~ — — — | 100kN/MZ#BZ % — — ~ — — |3m%i#BZ S -~ — — —
znLs 1.00 | 0.00 ~ 6.18 77.65 | N4 | 0.00 ~ 0.00]| 1.68 8.97 s 1.00 | 5.00 ~ 7.23 77.65 | =S | 5,00 ~ 7.23|1.68 8.97
100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDS ~
ZnLs ~ ZThLsh ~ Zn LS ~ ZThLs ~




